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1= 3= 1'34.450 5= 1'52.068
2= 1'37.147 4= 1'39.963 6= 1'33.237
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1= 3= 133968 5= 132740 7=
2= 136119 4= 133701 6= 132460 8=
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1= 3= 137.586 5= 153846 7=
2= 137.604 4= 135088 6= 1'34.227
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1= 3=
2= 1'37.275 4=

1'39.076 5
1'40.346 6=

1'34.833
1'35.358
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1= 3= 1'37.757 5= 1'34.425 7= 1'34.203
2= 1'37.118 4= 1'39.105 6= 1'34.454 8= 1'33.767
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1= 3= 1'32.501 5= 1'31.416 7= 1'32.181
2= 1'34.576 4= 1'31.725 6= 1'31.440 8= 1'31.468
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1= 3= 1'33.821 5= 1'31.643 7= 1'31.330
2= 1'34.562 4= 1'32.365 6= 1'31.132 8= 1'30.657
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1= 3= 1'35.923 5= 1'34.821 7= 1'34.097
2= 1'37.018 4= 1'41.463 6= 1'34.216
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1= 3= 1'35.558 5= 1'34.035 7= 1'33.509
2= 1'36.183 4= 1'34.424 6= 1'33.850 8= 1'33.570
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1= 3= 1'31.592 5= 1'31.493 7= 1'30.882
2= 1'33.182 4= 1'31.511 6= 1'31.102 8= 1'30.422
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1= 3= 1'35.554 4= 1'34.913
2= 1'38.458
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1= 3= 1'32.372 5= 1'32.296
2= 1'33.773 4= 1'31.846 6= 1'31.385
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1'35.826
1'33.553

1'32.087
1'32.105
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1'34.110

1'34.280
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1'33.212
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1'30.843
1'30.599
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WEATHER :

COURSE :
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Cloudy

Wet

*1'32.957 10
1’32100 10=
*1'33.859

*1'33.683
*1'33.441 10
1’30.305 10
*1'30.520 10
1'33.952
1'33.045 10
*1'30.192 10
*1'32.555
1'30.736 10
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1'34.157

*1'31.431

1'34.047

1'47.266

1'33.573

*1'30.282

1'30.554

*1'33.484

*1'32.559

1'30.347

5'45.187

*1'30.496
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1= 3= 1'33.982 5= 1'32.294 7= 1'31.421 9
2= 1'34.955 4= 1'33.742 6= 1'31.982 8 1'33.126

1'31.489  10= *1'31.356



